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2L A 54.1 BERE 54.1 1,836 1,296 864 10 A LL
IZALA 26.2 ERE 24.5 1,620 — 1,296 10 A L
IZALA f = 0.9 — 1,404 — 10 L
ZIES5 5.1 BRE 0.1 — 380 - 0.5
ZIES5 5 5.0 - 6,804 - 0] A M
f-lITDC 0.4 ElG 0.3 4,320 — 3,456 4 A LL
[E<E0Y 71.6 BRE 29.8 — 1,080 — 150 A 6
[F<E0Y £ & 45.6 1,458 — 1,080 15 6
HTE 2.1 2 1.5 1,836 1,080 756 4 A L
—EOH 6.3 ERE 4.0 1,836 1,080 1,080 4 A M
TRy 85.7 BERE 84.4 1,080 972 648 10 8
IE5SNAZES 3.5 BRE 1.8 2,592 1,944 1,188 4f A M
hE 7.9 BRE 6.7 1,296 918 864 3l A LL
h= E 15 0.6 1,188 — 1,080 3 vay L
_hE 1.4 = B 0.9 3,240 2,268 1,404 3 M
SE 0.2 BRE 0.2 1,620 — 1,404 A M
125 25 =0 1.5 4,860 2,970 2,700 5] vay
+)L)— 0.8 2 [ 0.4 3,240 — 3,024 0] A LL
FRINTGHR 1.1 = B 0.3 — 194 — 0.1 L
Hh)o257— 0.7 E X 0.5 1,188 — 864 6] A 6
Jowal)— 11.6
LAR 60.3 BRE 3.5 — 486 — 4 12
LA E & 49.3 1,080 702 324 0] A 12
FoTHA 1.5 BRE 0.9 1,728 1,080 648 4f A L
=p5Y 19.2 ERE 13.4 1,901 1,188 1,080 5] A L
=p5Y ElG 5.7 1,728 1,674 1,620 5] A M
ANESSED) 0.9 - 0.9 — 2916 — 0] A 5
Y 3.7 BRE 0.1 — 3,240 — 8 B L
B N 3.2 2,376 2,160 1,998 51 A L
k< 15.9 BRE 12.1 1,620 1,296 1,296 4f A M
k< BE X 3.7 194 — 167 0.5
I=kTh 7.1 BRE 6.5 140 86 81 02 A M
I=RTh RS 0.5 2,268 - 1,944 3 van ¥3AY
E—<> 10.6 BERE 10.2 6,480 4,320 4,320 10 A LM
T35 0.1 BRE - 324 — 0.3
IZH5Y 0.3 BRE 0.3 2,700 2484 2,333 3l A L
[ZA5Y BE X 4,990 - 4536 5] A 21
SPVAITFA 0.1 BRE 0.1 4,320 3,240 3,240 2l A
SPZAES 1.4 BRE 1.4 1,080 486 486 1 A
E—X 0.1 BRE 0.1 1,296 - 1,080 1
ZTHEDH 0.2 BRE 0.2 1,296 1,296 972 1
MrAL& 5.7 E X 5.1 2,052 2,052 1,836 5 M
[ESARYONS 117.3 BRE 117.3 2,160 1,836 1,836 10 A 4L
&L 0.2 BRE 0.1 — 3,240 — 5
AL 26 5 # 25 - 4,968 — 10 B 3L
f=FEh&E 41.0 BRE 43 2,160 2,052 1,944 0] A L
f=FEh&E JeiEE 36.8 3,456 2,970 2970 20 A L4'4
IZAIZK 0.7 ol 0.6 5,616 — 4536 10 4L
5oELD 0.2 BRE 0.2 216 - 194 0.15
EBLEIN 0.9 K & 0.4 3,888 3,780 3,672 4
HELLV=IT 1.4 K B 0.4 - 173 - 0.25| M M
ZDEET 4.1 K & 2.0 41 31 31 0.1 A
ZDEET =l 0.6 59 32 30 0.1 A
LHL 2.1 2 [ 2.0 97 70 70 0.2
ESES T 588.7
B=
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*x—JJL 2.0 EES 2.0 3,780 3,780 3,240 10| 7Hva L
HED2HAMA 2.0 BRE 1.7 3,240 — 2916 0] A LL
HE2H A BE K 0.3 - 1,080 - 10l vay S
[Fox< 0.2 BRE - - - PR
LEY 4.6 TA)H 45 8,640 6,264 6,264 17 115
INLUVT 5.0 TA)H 5.0 - 4,104 - 17
L7 2)1LY 0.9 ZDHhE 0.9 6,480 6,480 5,940 15
BR 5.2 EIR — - - PR
BR FFl 1.2 4,536 4,536 3,996 10[ 7h¥a M
HRE 0.7 =0 0.6 5,400 — 4,860 10 vay M
Lo 5.8 BRE 2.7 — 3,024 — 5 B 3L
Lo B X 2.7 2,700 - 2,160 5| 7hv1 20
HmohrAED 1.8 5 B 0.9 - 2,700 - 45| 71va LL
YATE 20.0
PEPE=IY 3.1 5 # 3.1 - 3,348 — 10[ 74v1 32
AL 15.3 "5 & 15.3 - 6,048 - 100 36
% 1.6 "5 & 1.6 - 8,294 — 15
U E 5 - 3,024 - 0.5 7hva L
W5 10.7 BRE 5.3 356 302 270 025 A LL
AOVEF 1.6
7—ILA 0.6 =l 0.1 - 8,856 — gl A 6
ZFDAOY 1.0 BERE 0.7 — 1,404 — 5/ A S
FLHE 1.0
ERAY 0.8 HE 0.8 6,696 — 6,048 14] vay LL
INFF 13.0 EYEY 12.7 4536 3,791 3,348 15
NAFyFTIL 44 EYEY 44 3,456 2916 2,700 10 8
FoA4T)LY 0.6 12 [ 0.5 3,456 3,456 3,024 3.6 33
RERE 80.1




